Inverted Minor Suit Raises


Convention Difficulty: Advanced


Even if you have a minor suit fit, you rarely wish to play at the five-level as 3NT is normally far easier to make. But after you have found a minor suit fit, if you want to play in 3NT you need space to locate stopper in the unbid suits, space often not available after, for example 1(  - 3(. 
This problem is solved by 'inverting' the 2( and 3( raises, so that 2( shows the stronger hand.

Bids and Responses

After opening one of a minor:

A raise to the 2-level shows 10-12 points, 4-card support

A raise to the 3-level shows 6-9 points, 4-card support

Note: if responder holds a 4-card major suit he would prefer to respond 1( or 1( rather than raise partner’s minor suit immediately.


The purpose of the raise to the three level is to try to pre-empt opponents out of the auction. It is much easier for them to compete at the 2-level than the 3-level.

After a raise to the 2-level, stopper showing bids can be used to locate the correct contract.

Notes

After any overcall or intervention by opponents, normal raises are used.
